100x100 400x100
200x100 400x200
200x200 400x300

300x200 400x400
300x300 600x400

D

EE@D@©G@@OOG@O@@GGG,
i 7 |
I /
|
§ /
¢ i
|

ATMSS6401-02 IS

@Eﬂzﬂm@¢eeeooe@oeeeee’
v = ; =
’ “
| |
I
i
|
|
i

CAUTION: DO NOT EXCEED ATMSS6401-02

RATED LISTED WEIGHT. SERIOUS
INJURY OR PROPERTY DAMAGE
MAY OCCUR!




@ Steel Washer

2 —— |4 © o

| 0 e ) i
S I | =

"""" """"" e ‘




| =
| @))”)))))))))))))))))))))»))))))W

X4

M8X16X1

To protect the glass, don'tuse
electric screwdriver or screw too tight.

‘M‘w
'E’Efr
e




M6*16 i
X4

the pre-fitted bolts before
attaching the TV




If width ® is greater than 600mm or height@
greater than 400mm STOP installation now and

contact the customer help line

No Spacers

Measure the TV fixing holes Width and Height

diameter that fits.

For TVs with flat/unobstructed back

You are provided with 4 diameters of TV fixing
screws, M4, M5, M6 and M8. Determine the screw

WARNING

A

Please keep for future reference.

I

oo OO
V222 77 A




6 1 . mmg

TV2-3

U
TV4-5 I =

-]

M4 @ M5 M6 M8
g X4 § X4 X4 X4
+ + + +
Washer Washer Washer Washer
X4 X4 X4 X4
+ + + +
S S S S
—————————— e S e R
= =) =) =
.U© TV9 .U© TV9 ’~© TV9 ‘U© TV9
o O O ()

Attach the bracket to the back of your TV using suitable screw, reducer and spacer combinations.




/4
/4

Please note: TV Mounting can
be set to 3 height preferences.

Display

=

Parts G (small metal plate) and E (M5 x 30 mm bolt x2)
are to be fitted to secure the TV to the stand.

——————————————

M5X30

{ \\““\\ \\\\\\‘\
\




